Rank Part No. Description Specification QTY
PG01551 SPEAKER HS30AL_PROEL_(PROEL) 1
|— 0001 NIO0895 [center tube cover ®46 431C_V1.1 1
} 0002 NI00994 [plastic center tube 178mm 431C_V1.1 1
|— 0003 NI0O1563 [rear cover ®120%65.5 431C_V11 1
|— 0004 MHO01279 |AL triangle socket-RS-ACT ®138*31mm 1
|— 0005 NI0O0495 [rubber coil $®95*p103*4.5tB 1
} 0006 MHO01011 [speaker cylinder-RS TC-30A 10"_V1.1 1
} 0007 NI00604 |equalizer-PC 959*15.7 1
| 0008 NI02755 |[K-fixed radio-film cushion-PC  [979*6 1
F 0009 MHO00845 |iron coil-RS ©74*p40*4.5 P:67.5_V1.0 1
F 0010 MHO00044 [magnet-RS ®41.5*975.5"10 Y-35_V1.0 1
F 0011 MHO00026 [T type middle pillar-RS ¢70*9p38.4*14.6*5 P:40.4_V1.0 1
} 0012 MI00681 |fixed bracket TC-15A,30A 1
|—OO13 NI00428 [O-shape loop ©14.8*919.6*3.6 1
} 0014 NI00429 |O-shape loop ¢13*95.5*¢3.75 1
F 0015 NI01712 [bushing PGB7-07G 1
} 0016 HA01875 |cable-RS 3P 78cm ¢6*90.17*20 1
F 0017 NC00107 |washer 1%96.2*¢12_V1.2 1
} 0018 MIO1000 (iron frame-RS-ACT 143*118*25_V1.1 1
F 0019 NE08041 (label-RS-ACT HS30AL PROEL_V1.1 1
F 0020 MHO01018 |label-RS PROEL_V1.2 1
} 0021 MG00105|color screw M4*12 6
F 0022 MG00108|color screw M4*14 3
F 0023 MG00107 |color screw M4*12 3
F 0024 MG00225 [color screw M8*12*1.25PH 2
|-0025 MF00041 |washer ®8*p13.5*2t 2
} 0026 NE01446 |(label 1
F 0027 NI00218 |cable tie ALT-102SB 1
} 0028 NFO01989 [instruction HS10/15/30/HS10AL/15AL/30AL PROEL_V1.0 [ 1
F 0029 NA00125 |PE bag 0.04t*580*400mm 1
F 0030 NBO00706 |barrier TC-30_V1.0 1
| 0031 NB03322 |gift carton-RS HS30AL PROEL_V1.1 1
} 0032 NBO01083 |carton TC-30AH,BH,AY,BY 1
| 0033 HJ00006 |dessicant 30g 1
F 0034 NE02443 |(label TC/SC 1
} 0035 MG00161 [screw M3*6 1
} 0036 NI00504 |cushion 45*20*1tB 1
| 0037 NI02354 [U-shape plastic-RS 770mm TC-30A 60g grey 1
} 0038 HK01010 [sound film-RS DIA-30_SC-30AH/BY/AY 1
L 0039 HK01001 |PC board-RS P-TC-30A/B-1 1

} 0001|HB00338 |PCB TC-30A;B 1
| 0002[TA00024 |transformer TF-30A 1
| 0003|HI00064 |rotary switch 21-2512-4536-26R0A 1
} 0004{HC00330 |connect terminal 2.8*14.1m/m 2
F 0005|HA02101 |wire-RS 145mm UL1007 24AWG black 1
} 0006|HA02102 |wire-RS 145mm UL1007 24AWG white 1




14

NITONINIV Ag umelq] HOS TVOESH KIE]
T 1071 EEES 81-/0-€00Z ared
8TL0E0Y3N WOESH w
uoisiney ‘ON [9PON 9zIS
HOS 1304d 1V0eESH -
voedL
[lele}
T <
m ooee
4
m 00.9 HOL
00T
EERVESS - <
o8 | I+ m o>
4
m oz
S
m odee
9
oot






